March 28, 2023

Statistics
Spring 2023
Lecture 28
Class Qz I
C&I\lu\, the art brlow
x| R ) Fnd  P(X=Y)
1|5 -1-1.15+.25+.35):1-19:.29)
D\ .2
3 |.35 J) Sind
|25 e
x> L] 07-1.005 Rowd to 3-Jegme
Px) L2 62 100 Reduced Svackim
1 —Vov Shks With Li¢ (-2 ]\/ARﬂ[@ii O—x!
22 (ATHIE: PS5 | [Eated]

Mar 28-7:05 AM



March 28, 2023

Pinosmiol  Prob. st @

Hn it\éev&v\éuﬁ events
9) oty event has oy fwo oulowes
P(.Su cce55)= P ?(\}qi\gft) -q

Py%- 1\>
=5}
PEY ruIm U\I\c\\wf\jeJ Sor ol e

) X is 4 0§ Swxesses. x=0,1,2,3M

FW)»{\X P OY

g =10, P-+6 , Sind P(X=)

P-1-P=1- 6-

0 X - 0“\/\3/ . @/

P(m)l e (“\). 120 - (6) (w)
A\ | Jets

”“x\’ci“

Mar 28-7:37 AM

Cb‘(\&\‘c\i‘( x \j\(\@m\'u\ F{ob\ A\\S\‘. \M\“\AV\ (“:20
) Poab. Tmd POXGR)

2x X ek
AR o A
P @)= 20 12 * () ()
I
nox Pog
e

125970 - (9 (9=

Mar 28-7:45 AM



You ave fuking o woifiple- choie exam With

and W\o\\ﬁiwa randow Quesses,
Fach question hao \Ek Qoies) bt only one

Copveet chovce. 5
Mm-=25 , P;L:.za F g

=10
Fnd P(%o@smﬂ m Covyed) (lwsvdevs)
P(x)= '{\ K" ‘J / N-X

PO-10)- 25510 (25) (75>

I I

%

Now)  USin \1 Cowuvm\r\o\
oo 81 4 [onoee osenst]

N> Teals "
Yoor Work P:.25

|0
10)- by ()S(ZS 2 @ X Yolue
Sy~

@ No MoV

\amomFA?r(a"D 25 \0) ml

Mar 28-7:49 AM

Nou g\i? N M 100 Hmes.

Su??ose, \m\c\\r\a Fals 15 A S0C(esS,
M= 100 P-.5 Q=0

P Jonds exaclly{ 60 +O\k\5>: noP X
P x = 60)= bmom\:ég( 100, .5, éO)’—i .011]

P( lomds @F mosh 60 filo):
P X 260)- binomed§ (100,45, 60)
0, 1,20, 60
?UN\J\% Sewey Than 60 W\S);
P AIAED) - P(x £57)
- binomcd§ (100, .5,59)

L)

Mar 28-7:59 AM

March 28, 2023



N loaded Cotn s Foswed 100 Fimes.

Quecess 1o 1o ond tanlo,

Suppose P(foil)= o6 Pec TS,

m-=100  P=-0 F=t

P exactly €0 fale) - P - 60)
- binompdd (100, .6,60)
- | . 091

P(at most 11O hi\s):'?( %S‘TO)
~binomcdd (\00 ) nﬁ,‘YO)

\ %D

P (@FIBITD tawls) = PC >N0)

1 _P(x4
we. dor't - : % P(x<69)
ot 10 wef Prob. 1
1- Binomcd$ (100, -6, 6“()
-
Mar 28-8:08 AM

Nou oxe mo\\«if\a Yandom guesses on evary q~vqs*\‘ow
on o muliiple- Choile  exawm with
hao 5 choies with onlY

eoch %ues‘mn

one. Corredy chote. ;
100 p-i=e2 Q=3

P oechiy 25 Covret M) -

PUx = 25)= binonpd§ (100, 2 25)4.04]
P( lews than 25 Cornet Ars):

p( X £25) - P(X <) ;L,mm\g

~

P( MOFe than 25 Covrect O\Y\%): Total Prob,
p( x >25)- PLC236) =1 =P X £ 25)

W 5 e H'- N
A binomcd$ (002, 29)

Quiz o wmorrow
on exg)edea VallR =\, 021

& Shod oS closs

Mar 28-8:17 AM

March 28, 2023



